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1,000,000& 10 10,000
o MBS 2 400,0002x32H 12,800




A 2EES
M HYRAZH(BFES)
Cel: AR (S ESD) (CHe: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
BZ0E0IsR 240
1,000,000& %12 1,000
o ORIZ2+E(AI&)
9,5003 =4 *BA| 2H200 60,800
o ORIZ2+E(8Y)
9,500 »4 & *40A| 2H= 123 18,240
EESES 129,000 x32E « 12 49,536
o Flg=+dg 50,0002 x32& *12& 19,200
o &Z0IstE AFU=
50,0003 x32 & *42] 6,400
0 GILBZH| N(IAE, HE2Z S)
50,0003 *32 & *22] 3,200
o ElX3(2¥) 150,000, 000& »2H 300,000
J23H(&#FES ) 27,720 30,800 /3,080
Jl=23H] 27,720 30,800 /3,080
201 fet=23y| 24,480 27,200 N2,720
01 AtR2te|HI 24,480 27,200 A2,720
0 Et=ZH|(3S) 504,000& »20H 10,080
0 SEHI(3S) 8,000 *208 »90! 14,400
203 HR=H] 3,240 3,600 A360
M EA2ER=A 3,240 3,600 A360
0 2M=2dg 3,240
Hees(8de2s) 3,106,09% 3,093,000 13,095
LIS HHXIE 3,106,095 3,093,000 13,095
HEHHXIE 3,106,095 3,093,000 13,095
701 JIEHRIHSEES 106,095 93,000 13,095
01 JIERI AN ES 106,095 93,000 13,095
0 +EMIISEENH HES 106,095
@R I1sdES 3,000,000 3,000,000
01 JIsdES 3,000,000 3,000,000
0 HIISXeld =8NS XN 3,000,000




